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[5-1] Fourier 0O OODODOOO
U000 —co<z<ooOOOOOO

0%u 0%u
w(%t) = Uzﬁ(%t) (1)

goob.od¢t=00,

uo x (1 = fz/a])  (|2| < a),

0 (otherwise),

u(z,0) = f(z) = {

0
au(m,O):O
O00000.0000000 uw(x,t) 0, 00000000.

1. Fourier 0000 u(x,t) = 5= [*_dka(k,t)e*™ 00000, a(k,t)
goobooooobooa.

2. u(z,0), 4(z,0) O Fourier 0000 a(k,0),a(k,0) 0000, OO
0,00 wu(z,0) O Fourier 000 F(k) = 2ug x (1 — coska)/(ka)?

3. 00000000 OOd,ak,t)y000ODO.

4. 0 Fowrier O 0O, 00000000O0OO0OO0O.
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[5-2] ODOOOOOOOOOO
O00000,wu(e,t) 0, 000000000000000.

1. 000 f,£0000 fz,t) = filz+ot) + folz —ovt) 00000
00000000.000,00 fi,f, O

u(z,t) = filx +vt) + fo(z — vt) (2)
OO0o00oooob. 00 t=000000000, f1,f,0000.

2.0 uw(z,t) 00000000,

[5-3] Gauss OO

O w(z,t) O,

1 - ikx
u(z,t) = gy /_OO dk a(k,t)e
a(k,t) = Aexp[—% (k — ko) — iw (k)]
O Fourier 0O OOO0ODOOO.
lL.wk =vxkDO0OO,00000

0%u 0%
W(fvat):ﬂ@(%t) (3)
ddooodoooodgoon.

2. wk)=vxkO000O,0000¢000000(@O)000.00
gbboboooobbobooogobn.

Hint. Gauss 00 [ dk exp|—a®k*| = /m/a. 00DODO.

[5-4) OOOO,00000000
1. oooboooooon

u(z,t) = up(sin(kox — w(ko)t) + 3(sin(kyz — w(ky)t) + sin(k_z — w(k_)t)))

O000.000,wr=wtlww<<wOOO. OOOODOOO
O00000.000,wk)=0vk0000000000.
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2. Gauss OO

1 [~ -
u(z,t) = 2—/ dk a(k,t)e™™

@ )

a(k,t) = Aexp[—% (k — ko) — iw(k)t]

0000,00000000.000,wk) =vk000000O0.



